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B f1:p Sv/h

W | mEr xE Ho7525 | w | o758 | & | Hozsut | wm | Horss | m | H27a27 | wm | m27a20 | m | m27ans | = | Ho7as | m | 27330
I TE B R 10:48 ~ 11:15[10:49 ~ 11:15/ 859 ~ 9:30[11:36 ~ 12:01}1050 ~ 11:23}1057 ~ 11:23]11:20 ~ 11:44|11:08 ~ 11:35}11:02 ~
g | AESS T Ty Ty Ty Ty Ty Ty Ty Ty
@ |GL 50cm 0.05 0.04 0.05 0.05 0.04 0.05 0.05 0.05 0.04
FEM (GL100cm 0.04 0.04 0.04 0.04 0.04 0.04 0.04 0.05 0.05
@ |GL 50cm 0.05 0.06 0.06 0.06 0.06 0.05 0.06 0.05 0.06
158 | MERE |GL100cem 0.05 0.05 0.06 0.06 0.06 0.06 0.06 0.06 0.06
el @) |GL 50cm 0.06 0.05 0.06 0.06 0.05 0.05 0.06 0.06 0.06
ﬁ% IRHEHS |GL100cm 0.05 0.05 0.06 0.06 0.06 0.06 0.60 0.06 0.05
% @ |GL 50cm 0.05 0.06 0.05 0.06 0.05 0.05 0.05 0.05 0.05
10 | AR |GL100cem 0.05 0.05 0.05 0.05 0.05 0.05 0.05 0.05 0.06
GL 50cm 0.07 0.07 0.06 0.06 0.06 0.06 0.06 0.07 0.07
BER (GL100cem 0.06 0.06 0.07 0.07 0.05 0.05 0.06 0.06 0.07
e
B 7E B 914 ~ 9:38]|9:24 ~ 10:00[10:39 ~ 11:12]10:06 ~ 10:34] 943 ~ 10:12} 932 ~ 10:09] 9:41 ~ 10:11] 9:15 ~ 950] 940 ~
E | AEES 1 1 1 1 1 1 i F 1 F 1
@ |GL 50cm 0.05 0.05 0.05 0.05 0.05 0.04 0.05 0.05 0.06
E M |GL100cm 0.05 0.04 0.06 0.04 0.05 0.04 0.05 0.05 0.04
@ |GL 50cm 0.06 0.06 0.05 0.06 0.07 0.06 0.06 0.05 0.06
1@ i & |GL100em 0.05 0.05 0.05 0.05 0.05 0.06 0.06 0.05 0.06
| @ |GL 50cm 0.07 0.06 0.06 0.06 0.60 0.06 0.06 0.07 0.06
| & # (GL100cm 0.05 0.06 0.06 0.06 0.06 0.05 0.06 0.06 0.06
JE @ |GL 50cm 0.05 0.06 0.05 0.05 0.06 0.06 0.05 0.05 0.06
14
® 1 |GL100cm 0.05 0.05 0.05 0.06 0.06 0.05 0.06 0.05 0.04
GL 50cm 0.06 0.05 0.06 0.07 0.06 0.06 0.06 0.07 0.06
B R RIGL100em 0.05 0.06 0.05 0.06 0.05 0.05 0.05 0.06 0.06
e
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@ |GL 50cm
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